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A SATISFACTORY SOLUTION OF ALL EXAM PREPARATION

Vocab Misc Questions Overview

Vocab Misc Questions have a good weightage in the Banking Exam and the type of question asked in Banking exam is
similar to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they have tried to
elaborate the concept used in Vocab Misc Questions.

Question

Which of the words/phrases (A), (B), (C) given below should replace the words/phrases respectively in the following
sentences to make them meaningful and grammatically correct? If the sentence is correct, then mark the option "No
Improvement Required". The actual reason that led to the (A) breakthrough of the current conflict could be the

(B) controversial Prasad Education Trust case, in which the petitioners alleged that some individuals were

(C) envisaging to influence the Supreme Court.

Difficulty : Moderate Average Time: 47 Seconds

Options :
1. emission, disputed, conspiring

2. outbreak, contentious, plotting
3. eruption, combative, conceiving
4. breakout, contradictory, castigating

5. No improvement required

Solution

The correct answer is option 2 i.e. outbreak, contentious, plotting.

Concept/Grammar

Applications
rules PP
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A SATISFACTORY SOLUTION OF ALL EXAM PREPARATION

The theme of the
question is to find
the best
alternative for the
three fragments of
the sentence so
as to make the
sentence both
grammatically as
well as
contextually
appropriate.

.

The original words refer to the
following:

Breakthrough- an achievement
after a lot of hard work. The tone is
negative here and thus this is
incorrect.

Controversial- disputed. This is
correct in the present context.
Envisaging- imagining. This does
not make any sense as it implies
that the individuals

were imagining influencing the
Supreme Court. This sounds
absurd.

Thus, the original set of words is
incorrect.

Option 1- ‘Emission’

means discharge and is irrelevant
here.

Option 3- ‘Combative’

means aggressive or belligerent and
‘conceiving’ to dreaming or
preparing an idea. Both are
irrelevant to the context and
incorrect.

Option 4- ‘Castigating’

means criticizing and does not fit in.
Looking at Option 2-

All the words in this option fit well
grammatically as well as
contextually.

Outbreak- sudden occurrence.
Contentious- causing or likely to
cause an argument.

Plotting- planning.

The statement after replacement:

The actual reason that led to the (A)
outbreak of the current conflict
could be the (B) contentious Pa
Prasad Education Trust case, in
which the petitioners alleged that
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